BHMR—RAR—ILHTTO1=7F 2017407A(7/1 ~ 7/31) RE
Bt ZH ER A% HE e e B & % B 54 &=
fEyHL -260,844
2017/07/01 XESME |20 5000 | -265844 | TAEREALEHHKAKE |BE AF—L
2017/07/01 EER alx 842 | 266,686 | H KL B BF—L
2017/07/02 HRAIAE AR—YRE 800 -265,886 | ATh—VIRIE ¥} HE WERIEER
2017/07/02 LIk AR—YIRE 800 -265,086 | AFR—Y{RIEE] ne EAREER
2017/07/02 HRAIAE AR—YRE 1,850 -263,236 | ATh—VIRIE ¥} HE = NAYA
2017/07/06 REEH AR—YRE 800 | 264036 | RER—V{RIE HE WERIEER
2017/07/06 ZDith HE 138 | —264,174 | {RAFHE "
2017/07/09 A& — & 36,000 -228174 | AF— L "
2017/07/09 A& — & 33,000 -195,174 | BF—Ls "
2017/07/09 A& — & 24,000 171,174 | CF—Ls HE
2017/07/09 A& ;) 4,000 -167,174 | BF—Ls He
2017/07/09 A& ;) 10,000 -157,174 | CF—Ls He
2017/07/09 HRRE AR—YRIE 800 -156,374 | AIR—V 1R E ¥} He WtEKEE
2017,/07/09 A A E AR—YIRE 1,850 -154,524 | RAR—Y R ¥} " GiTAYA
2017/07/09 RBLE AF—L 6,000 -160524 | OO He
2017/07/09 RBLE BF—L 7,000 -167,524 | OO He
2017/07/09 RBLE BF—L 5000 | -172,524 | 4% He
2017/07/09 RBLE CF—L 6,000 | -178524 | BHDOH He
2017/07/09 RBLE CF—L 3,000 | -181524 | $&4% He
2017/07/11 REEH AR—YRIE 800 | -182324 | RABR—V{RIE He WtEKEE
2017/07/11 RiEF AR—YRIE 1,850 | -184,174 | RIR—VIEIE " GiTAYA
2017/07/11 ZDith BE 138 | -184,312 | A FHuE He
2017/07/11 ZDith HE 9,882 | -194,194 | HPEHH b
2017/07/14 BEERK R—ILR 10,600 -204,794 | IR— L HE FT4H4
2017/07/15 EER alx 842 | 205636 | HRE B BF—L
2017/07/16 HRIEE AR—YIRIE 800 -204,836 | ATh—VIRIE ¥} HE EXE
2017/07/16 HRIEE ZR—VIRE 1,850 -202,986 | ATh—V IR & ¥} HE =1 YAYA
2017/07/18 REEH AR—YRE 800| 203786 | RAE—V{RIE HE EXE
2017/07/18 REEH AR—YRE 1,850 | -205,636 | RAR—VIRIE HE =1 YAYA
2017/07/18 ZDith HE 138 | —205774 | #RAFHuE "
2017/07/22 EER alx 842 | 206,616 | /KL B BF—L
2017/07/22 FHK E¥R 4000 -210,616 | =%t b IAER}E
2017/07/28 BEERK R—IL 10,600 -221,216 | IR—)L4% B TILIRA
2017/07/30 SsmE | ALEHAFTEESR 7,000 | -228216 | A—RJLINGRAYT He AF—L
2017/07/30 EER alx 537 | 228753 | AL B CF—L
2017/07/31 EER alx 842 | 229595 | HR4E B BF—L
&t 115,750 84,501 -229,595




